Dividing by 4 and 8 e

11

How do we put these apples into 4 and 8 equal groups?

Can they be
-

putinto 3 equal
groups?
o Put 24 apples into 4 equal groups.
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Each group has 6 apples. e =

e Put 24 apples into 8 equal groups.
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24+-8=3 "
Each group has 3 apples.
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Guided Practice

Write the missing numbers.

16 - 4 =
16 - 8 =

40+ 4=
40+ 8=

o (@) 28+4=

(b) 48+:8=
(o) 24:8=
24 + 4 =
24 -3 =

Think about what yow did, in the guided,
practice. How can this help you with

this question?
‘ e i
&
40+2=
x4 =28 Use the answer from the
first part of the question
x 8=48 to help youw with the
second, part.
x 8 = 24
x 4= 24
x 3 =24

Complete Worksheet 11 « Page 101 - 102 >
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Name: Class: Date:

Worksheet 11

Dividing by 4 and 8

°WPite the missing numbers.

Y F0 o o Fo
GO FO GO FO
GO FO Fo FO
GO Fo FO GO
16 = 4 = 16 = 8 =

P OOOOOOOO
OCOOO O OO0
OCOOOOOOO
OCOOO OO0
32+ 4 = 32 : 8=
P PIPPVPVIPIOPIOVIIPIP
2% + 4 = 2% : 8 =
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Divide 20 doughnuts into 4 equal groups.

Draw these doughnuts on each plate and fill in the blanks.

O
O

20 + 4 =

o Draw 7 dots on each ladybird and fill in the blanks.
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b B B
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!IDURNAL CH3 L11 DATE:

TITLE: How does knowing how to divide by 4 help youw divide hy eight?

Complete the following:

8+ 4= 8+:8=
16 + 4 = 16+ 8=
32 +4 = 32 + 8 =

What do you notice. Using pictwres and symhols describe what you notice, are there
any pattems? How does dividing by 4 help you divide by 87



Name:

Dividing by 4 and 8

‘Wmc the missing number's.

Y E0 o GO GO

FO

00005
0000 ;
0000 °
0000
0000
0000
0000~
oooo

DS !
99

A B
D S
B B
B B
- B
B B
B B

BN -,
B9 °
DB <




a Divide 20 doughnuts into 4 equal groups.
Draw these doughnuts on each plate and fill in the blanks.

-
-

20 + 4 = S i =4 = 20

. °Drow 7 dots on each ladybird and fill in the blanks.

@6 @R
R

7x8=| 56 56 |+8=7

2

8§x7=| 58 56 |+7=8
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